SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: ENGLISH TEXT
STD : VII MARKS: 60
DATE : 23-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION A (OBJECTIVE)
Q.1 (A) Read the following objective type questions and answer them as per direction. Read
the questions carefully and choose the correct option: [0.5x10=5)
1. Inthe excerpt ‘The Making of the Mahatma,” which aspect did the author consider as
a spiritual antidote?
(a) Worshipping God (c) faith in mankind
(b) Truth (d) moral strength
Which one of the following options correctly defines the highlighted word of the given
sentence?
Sentence: In the end when father was waiting with a scow/ for an answer.
(a) high hope (b) ruler scale
(c) complete patient. (d) an angry expression on the face.
Which one of the following options expresses the meaning of ‘the grass land is
harvested’?
(a) From hedge to hedge about the new-mown mead,
(b) The grasshopper’s among some grassy hills.
(c) he rests at ease beneath some pleasant weed.
(d) ... hide in cooling trees, a voice will run.
Find the correct poetic devices in the given lyric: “The poetry of earth is never dead”
(a) Alliteration, Personification (¢) Simile, Personification
(b) Litotes, Metaphor (d) Apostrophe, alliteration
Douglas Galbi expressed the importance of advertisement in his work called
(a) The news poem (c) Isn’t it funny? Why is it?
(b) the poet’s song (d) the pleasant ads
Give one word for ‘extremely surprised’:
(a) outwitted (c) dumfounded
(b) smirked (d) insolence
Which one of the following doesn’t match with the word ‘emancipate’?
(a) set free (c) liberate
(b) mitigate (d) free from slavery
Which one of the following words defines the meaning of: “an old ugly woman”.
(a) Dame (c) Miserable
(b) Sod (d) Crone
Which one of the following is an opposite form of the given expression: “Run away
quickly”?
(a) strolling (c) scurry
(b) scoot (d) scruple
Which one of the following is not a physical feature of the Music Master?
(a) scrawny toe (c) leathery neck
(b) bald hair (d) old fashioned tuft




Q.2.

(B)

(C) Choose the correct word from the brackets for the given phrase.

A)

Match the following:

[0.5 x 10 = 5]

A

Quay Halfwit

Smirked

Stop someone from doing something annoying

Wrought Rude

Decipher

Handwritten piece of work

Drowsy Modest

Carcass

Smiled in an unpleasant way

Give over

Dead body of an animal

Insolent

NER e e o e W

Created or crafted carefully

| RN BRI

. Manuscript Decode

10. Idiot J- Sleepy

k.  To getrid of

1. A landing place built along a coastline

1.  Become dry and shriveled
2. Lie face down.
3. One who sells sea food

Enjoy something very much.

Suffering or dying of hunger.

A low ranking judicial officer.

To be found something by chance.

Anything or anyone that bring good luck.

Extend beyond the main body or line of something.
10. To hide in a ship or large vehicle to travel.
Do as directe(d)

Write correct form of word from the given brackets:

Noun form of simplify -

Synonym of suffice -

Adjective form of hesitation-

Synonym of protest -

Antonym of pleasant -

Adjective form of decision -

Verb form of able -

Synonym of pounding -

ok W=

Synonym of unappreciative -

—
e

Antonym of weird -

[0.5x10=75]
(Scrawny/ Fringe/ Wither)
(Prostrate/ Tumble/ Collapse)
(Fishmonger/Fishmoanger
/Fishmounger)

(Lapping up/ Clatter off / Lined with)
(Appetite/ Devour/ Starving)
(Diwan/ Governor /Magistrate)
(Rake in/ Call out/ Turn up)
(Mascot/ Token/ Memento)
(Deflate/ Jut / Abridge)

(Draw up/ Stow away/ Saddle up)

[0.5x10=5]
(simpleton/ simple/ simplification)
(suffix / enough/ profuse)
(hesitate/ hesitantly/ hesitant)
(object/ servile/ predict)
(delighting/ annoying/ blissful)
(decisive/ decide/ decisively)
(enable/ abled/ ability)

(grinding/ weighing/ patting)
(admire/ cherish/ disapproving)

(ordinary/ strange/ unusual)




(B) Fillin the blanks with the appropriate word or phrase, which are given in the following

9.

10.

brackets: [0.5x 10 =5]
(Find out; Alice Banks; O Tento Sama; Grow up; Pomp; Rice pastry; Looked into;
Shadi Shah; Bring out; Bean sauce; Smothered; Durban)

The old man, being a rice farmer working hard from morning until had gone
down behind the hills.
As for the dog, they petted him they nearly him with kindness.
Good farmer made a hand mill for
The wicked old man spoiled all the of the procession.

suggested that the villain should either be thrown down from the fort or be
hanged.
The port of Natal is called
Preyanshi will call the shop to (discover) new arrivals.
Parents wish that their children (mature) alert to the ways people try to sell
them things.
The researchers have (examine) childhood obesity and its links to screen time.
Allan Ahlberg went along with

State whether the following statements are “True” or “False”. [0.5x 10=5]

1.

Dr. Robinson suggested to parents that they should not turn down the request of their
child instantly.

Abdulla Sheth did not like the idea of Gandhiji to wear English cap instead of Indian
turban.

The whole Press media took the side of Gandhiji about his turban issue.

Poetess suggested that love and care will be required to soar the kite of Life.

Dr. Thomas Robinson was a professor of Standford University.

Dr. Robinson reported that majority of children between 7 to 8 years responded that
McDonald’s wrapper products were better in taste.

Voynich Manuscript is believed to be formed after 1438 and found in 1912.
Mulla-do-Piaza suggested to Akbar that the criminal should be beheaded but not
privately.

Being afraid of the cruel pair, the dog neither ate nor move.

Gopal accepted the challenge of the king and at that very moment he went to the
market to buy Hilsa-Fish all by himself.

SECTION : B (SUBJECTIVE)

Q.3 (A) Answer the following questions in one sentence. (Answer any six) (1x6=06)

1.

2.
3.
4,

What did destiny equip Gandhiji with, during his twenty-one-year stay in Durban?
How do children learn unhealthy behavior?

Who did give the first reply to Akbar? And what was the reply?

What is the secret that Meena shares with Mridu in the backyard?




Who are the Kitten’s ancestors according to Ravi?
6.  Who was the author of the unit “The Ashes that made trees bloom™?
7. Why did Swami burst into tears in the end?
(B) Answer the following questions in brief. (Answer any three) 2x3=6)
1. Justify the title ‘Unwelcome visitor’.
2. “It was plain sailing after that”. Explain
3. What were the findings of Dr. Thomas Robinson regarding “effect of branding on|
children between age group of 3 to 5 years old?
4.  What is the central idea of the poem “Life”?
5. “... to throw her off the scent.” Explain.
(C) Answer the following questions in detail. (Answer any four) [3x4=12]
Juxtapose the playing of violin by Lalli and the music master.
What did the good farmer finally do with ashes?
What did Gandhiji write about Abdullah Sheth?
What is the central idea of the poem “It’s a Puzzle”?
What are the arrangements made by children for the cat?
Q.4. Describe the following picture and; write the few sentences about the central character as
well.

Q.S5. Explain the following stanza with its theme.

The poetry of earth is ceasing never:

On a long winter evening when the frost

Has wrought a silence, from the stove there shrills

The cricket’s song, in warmth increasing ever,
And seems to one in drowsiness half lost;

The grasshopper’s among some grassy hills
% sk ok




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: ENGLISH GRAMMAR

STD : VII MARKS: 60
DATE :16-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A [OBJECTIVES]
Q-1 [A] Fillin the blanks with an adjective of the appropriate degree of comparison.
[0.5x10=5]

f—

Stickit is the glue( stronger/strongest) glue. Be careful while using it.
My great grandpa is the (old/oldest) member of my family.

Dipak has a (luxurious, more luxurious) apartment in Delhi.
Which is the (more precious/most precious) metal in the world?
Mangoes are not  (more expensive/most expensive) than kiwis.
Mariana Trenchisthe ~ (deepest/deeper) point on the earth.

Itissucha (cool/coolest) day. Let us go to the park.

The Andes are the (longer/longest) mountain range.

2.
3.
4.
5.
6.
7.
8.
9.

King Solomon was the  (wise/wisest) of all.
10. Punitisas  (strong/stronger) as his competitor.
Underline the demonstrative pronouns in the following sentences. [0.5x6=3]
1. Those are the boys who misbehaved in class.
This is the library card that I use.
That is the car that I will buy when I grow up.
Those are the pedestrians who are waiting to cross the road.
These are cupcakes from the Baker’s Oven.
That is the place where my bag was snatched.
Correct the errors in the following sentences.
1. He is senior than me.
Ramesh is the best singer of the two.
This camera is much more expensive than that one.

The sun is more brighter today.

Shimla is as colder as Nainital during winter.



[D] Match the following and frame sentences

[S—

A S AR O

10.

Column A

The soldiers marched

The kitten pounced

Meet me

Leaves fall off the trees
The movie will be released
You will not watch TV
Meena booked the tickets
Aarvi had a cup of tea
Jonathan went to cuba

Let’s go

Fill in the blanks with suitable prepositions.

1.

Distribute the sweet the children.

What is the time your watch?
Birds are flying the tree.
The cat is table.

Sheetal fell ~ the stairs.
Put the toys back  the cupboard.

Kangaroos are found Australia.

[0.5x10=5]
Column B
on time
before she left for the theatre.
upon the mouse
after cleaning the house
for a week.
during autumn.
towards the centre of the town.
after exams.
along the sea beach

while studying

Fill in the blanks with the correct indefinite article.

Can I have cup of coffee,please?

Guddy wore  elegant dress to the party.

India is united country.
We returned hour ago.

Jenil has 1dea.




SECTION-B [SUBJECTIVES]
Q-3 [A] Underline the adverb and identify its type.
1. Pravin often goes to work by the metro.

Dhyanvi writes neatly.

Somnath went to the temple yesterday.

2
3.  The house where Nehru was born is now a museum.
4
5

Why did you write such a letter?

Rearrange these words to form sentences.Insert a,an or the where necessary.
[1x5=5]
there/in/any/fridge/milk/is?
Krinal/girl/is/really/shy/a.
experience/what/was/an/amazing/it!
Hetal/for/night/left/United/last/Kingdom.
My son/guitar/is/learning/the/to/play

Your school is organizing a General Knowledge Quiz Competition for the
students of class VI to VIII. As Jaya /Jay, the head Girl/Boy, write a notice to
inform the students about it. [4x1=4]

[B] Write a letter to the editor of a newspaper on the issue of a particular road that

needs repair. [4x1=4]

[C] Write an essay on any one topic in 200 to 250 words. [4x1=4]
(1) A Visit to a Book Fair
(2) My ambition in life




[D]

Describe the picture given below.

Read the passage carefully and answer the questions given below. [1x5=5]

Allahrakka Rahman, also more popularly known as A. R. Rahman is an Indian
composer, singer and a music producer who most recently became famous for his
music for the movie “Slumdog Millionaire”.

Born on 6th January, 1967 his early life was full of struggle, having to take care
of his family after the death of his father. Later on in college, he formed a band with
his friends, beginning to focus his time to music rather than academics. He has
composed and sung many songs, be it for Bollywood or even Hollywood.

With his success, he also has done a lot of philanthropic work, especially
regarding children. Married to Saira Banu, they have three children who have also
shared their love of music numerous times. It is an accepted fact that he is a renowned
and precious jewel of the Indian nation, be it in music, films, or even in other fields of
work.

1) Whois A.R. Rahman?

2)  When was A.R. Rahman born?

3) What famous movie is he famous for?
4)  What is his wife’s name?

5)  Find two adjectives from the passage.

% skk




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: SCIENCE
STD : VII MARKS: 60
DATE : 19-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A (OBJECTIVE)
Q-1 [A] Choose the correct alternative from each of the following and write it: [0.5x10=5]
1.  Transfer of heat without any medium is called
[a] conduction [b] convection
[c] radiation [d] insulator
Range of clinical thermometer is
[a] 32 °Cto 45°C [b] 34 °C to 42°C
[c] 35 °Cto 42°C [d] 35°C to 45°C
Colours of China rose indicator in acidic and basic medium, respectively are
[a] Magenta and red [b] Magenta and green
[c] Green and Magenta [d] red and blue
Which of the following feel soapy on touch
[a] Acid [b] Base
[c] Salt [d] None of these
Change of state of a substance is a/an
[a] Physical change [b] Chemical change
[c] Irreversible change [d] both (b) and (c)
Which of the following is an example of a physical change?
(a) Filling up a balloon with hot air.
(b) Taking a glass of water and add sugar in it to make sugar solution.
(c) A plant collecting sunlight and turning it into food.
(d) Rusting of an iron.

Name the type of respiration which causes muscle cramps.

(a) Aerobic respiration (b) Anaerobic respiration

(c) Both (a) and (b) (d) None of these




Cockroach breathe through

(a) skin (b) legs

(c) trachea (d) nose

During inhalation, the diaphragm:

(a) Relaxes and moves up (b) Contracts and moves down
(c) Remains stationary (d) Expands and moves up
The respiratory pigment in humans that transport oxygen is :

(a) Chlorophyll (b) Haemoglobin

(c) Myoglobin (d) Carotene

Fill in the blanks.
Heat transfer via molecule to molecule in solid is called
change, new substance is formed. {physical /chemical}

In human, air enters the body through

During heavy exercise, we get cramps in the legs due to the accumulation of

Anaerobic respiration occurs in absence of
Movement of cool air from land towards sea is called

prevents mercury level from falling on its own in clinical
thermometer.

The chemical formula of sodium hydroxide is

Q-1 [C] Answer the following questions in one word.
1. What is the range of laboratory thermometer?
Which base is applied when ant bites?
What is the effect of soap solution on phenolphthalein?
Which organ refers to the floor of the chest cavity?
Name the respiratory organs in following organisms: [a] Fish [b] human
Name the metal used for galvanising iron.

Write two insulators of heat.




Q-2 [A] Match the following.

Column A Column B

(1) Acetic acid (a) poor conductor of heat

(11) Yeast (b) litmus is obtained

(111) Air (c) no effect on turmeric

(iv)Lichen (d) anaerobic respiration

Q-2 [B] Write whether the following statements are true or false.
1. Metals can easily allow heat to pass through it.
A chemical change is mostly irreversible.
Carbon dioxide turns lime water into milky.
During inhalation, diaphragm moves up.
Humans always do aerobic respiration.
Rusting is helpful for increasing quality of iron.

Dark coloured clothes reflect heat.

Define the following.
1.  Neutralisation

Conduction

2
3.  Galvanisation
4

Aerobic respiration
SECTION-B (SUBJECTIVE)
Answer the following questions in one or two sentences each.
1.  Give one example of convection.
What are the products formed when acid and base are mixed?
What are the organs of respiratory system?
How do earthworm and frog breathe?
What are the properties of physical change?
Why antacid tablets are given during acidity?

Why we often sneeze when we inhale dust laden air?

[0.5x4=2]

[0.5x6=3]




Answer the following questions in details. [2x4=8]
1.  Explain the process of neutralization with one example.
Explain why rusting of iron objects is faster in coastal areas than in desert.
Explain why burning of wood and cutting it into small pieces are considered as
two different types of changes ?
Three liquids are given to you. One is hydrochloric acid; another is sodium
hydroxide and third is salt solution. How will you identify them? You have only

turmeric indicator.

Give reason for the following. [2x2=4]
1. Wearing more layers of clothing during winter keeps us warmer than wearing
just one thick piece of clothing.

Factory waste is neutralised before disposing it into water bodies.

State difference between:

1.  Aerobic and anaerobic respiration.

2. Physical and chemical changes.

Acid and base

Write an experiment to show the transfer of heat in solid with labeled figure:
[2.5x1=2.5]
Label the given figure: [2.5x1=2.5]




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: MATHEMATICS
STD : VII MARKS: 60
DATE : 21-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION : A (OBJECTIVE)
Q-1 (A) Choose the correct option :- (05x6=3)
1. can be found by subtracting the lowest observation from the highest
observation.
a) Range b) Mean ¢) Mode d) Median
A triangle can have number of maxiumum altitude.
a)3 b) 4 c)S d) 6
The value of the variable for which the equation is satisfied is called the
of the equation.
a) Expression b)Solution c)Transposing d) None of these.
If4y — 5 =19,then y= .
a)6 b) 8 c)S d) 3.
A Line segment has end points.
a) l b) 2 c)3 d)4
In an isosceles triangle, the angles opposite to the equal sides are
a) Equal b) Unequal c) 90° d) 180°

State whether the following statements are true or false: 1x6=6)
1.  The mean is one of the numbers in a data.

In an equilateral triangle, each angle has measure 80°.

If two parallel lines are cut by a transversal, each pair of alternate interior angles are
equal.

If 3n+7 =25, thenn = 6.

The average of 4 hours , 5 hours and 3 hours is 5 hours.

The mode of a set of observation is the observation that occurs most often.

Fill in the blanks. (1x6=6)
1.  The mode of the given set of numbers is for1,1,2,4,3 ,2,1,
2,2,4.
The equation for, the sum of three times x and 11 is 32 is .
The sum of the lengths of any two sides of a triangle is than the third side.
The Median is of the data 24, 36, 46, 17,18, 25,35.
The equation for ten times a is 70 is

Two angles forming a linear pair are 0,




Q-2 (A) Do as directed.

XN kW=

Find the angle which is equal to its complement.
Find the Complement of 20°.

Find the supplement of 20%

Find the mean of the first five whole numbers.
Solve the equation and find n for 3n -2 = 46.

Write the following equation in statement form : a—5=9.
Draw a rough sketch for A ABC, BE is a Median.
The difference in the measure of two complementary angle is 12°. Find the measure

of the angles.
Among two supplementary angles the measure of the larger angle is 44° more than
the measure of the smaller. Find their measures.

Define the following . (1 x6=6)

Transversal
Pythagoras property
Isosceles triangle.
Median of the triangle.
Altitude of the triangle.
Equilateral triangle

SECTION : B (SUBJECTIVE )
Note : Show All type of Calculation

Solve the following. (2x6=12)

1.

The runs scored in a cricket match by 11 players are as follows:
6, 15, 120, 50, 100, 80, 10, 15, 8, 10,15
Find the mean, mode and median of this data. Are the three same?

Following data gives total marks ( out of 600) obtained by six children of a
particular class. Represent the data on a bar graph with scale 1cm = 50 Students.

Students Ajay | Bali Dipti Jay Veer Hari

Marks obtained | 450 500 300 360 400 540

Solve: (@)3n+7=25
(b)2p—1=23.
Set up an equation and solve this:
When I subtracted 11 from twice a number, the result was 15.
OR
The teacher tells the class that highest marks obtained by a student in her class is twice
the lowest marks plus 7. The highest score is 87. What is the lowest score ?




Find the values of the angles x, y, and z in the following figure.

In the figure, find the value of z.

Q-3 (B) Solve the following. (3x6=18)

1. In the below figure, p || q. Find the values of unknown angles.

r

e
125°




A tree is broken at a height of Sm from the ground and its top touches the ground at a
distance of 12m from the base of the tree. Find the original height of the tree.

Solve the equation

(a)3n—2=46

(b) 5m +7=17

(0) ==40

The marks (out of 100) obtained by a group of students in a science test are 85, 76,
90, 85, 39, 48, 56, 95, 81 and 75. Find the:
(a) Highest and lowest marks obtained by the students.
(b) Range of the marks obtained.
(c) Mean marks obtained by the group.
OR
The heights of 10 girls were measured in cm, and the results are as follows:
135,150, 139, 128, 151, 132, 146, 149, 143, 141.
(a) What is the range of the data?

(b) What is the mean height of the girls?

(c) How many girls have heights more than the mean height?




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: SOCIAL SCIENCE
STD : VII MARKS: 60
DATE : 18-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)

Q-1 [A] State the following statements are True or False [0.5X8=4]
1)  Sher Shah defeated Humayun and established his rule over India.
2)  Most of the water on the surface of the earth is saline.
3) India is a communist country.
4)  Chandbardai wrote ‘Prithvirajraso’.
5) Jetplanes can fly faster with less obstruction in stratosphere.
6) The chief minister of Sultan was called Vazir in Delhi Sultanate.
7)  Democratic government is formed according to the will of the people.
8)  Cities experience lower temperature than the villages.
Fill in the blanks
1)  Abul Fazl has written biography of Akbar namely °
2) is considered main in inequality.
3) The layer of air around the earth has .................... .
4) is found in the Little Rann of Kutch of Gujarat.
5) was the most talented Sultan of Tughlaq dynasty.
6) lake 1s located in Patan.
7)  We can hear the sound through the medium of
8) 1s considered to be the largest Panchayat in the country.
Choose the correct option from the given options [0.5x8=4]

1)  Who established Chargan of the Delhi Sultanate?
a) Iltutmish b) Balban ¢) Qutubuddin Aibak

2)  Which world famous painter was there in the court of Jahangir?

a) Basavan b) Jaswant ¢) Mansoor

3) For which type of sari is Patan famous?
a) Banarasi b) Bandhni c) Patola
Which country has the largest written Constitution?
a) India b) Russia c) USA




Where is the maximum atmospheric pressure felt?

a) On Poles b) On Sea surface ¢) On Earth surface
Using whom do the citizens form the government in democracy?

a) Education b) Suffrage c) Advertising

By which other name is the man-made environment known as?

a) Cultural b) Intellectual c) Natural

What is given very much importance in democratic country?

a) Competition b) Education c) Equality

Match the following [0.5x8=4]
A B

1) Dhai din ka Jhopda a) Dholka

2)  Secular Emperor b) Junagadh

3) Malav lake c) Water Pollution

4)  Drainage Water d) Westerlies

5)  Stratosphere e) Over the age of 18 years

6) Permanent winds f) Akbar

7)  Fort of Uparkot g) Seasons do not occur here

8) Rightto Vote h) Ajmer

[B] Define
1)  Architecture 2)  Moisture
3) Hydrosphere 4)  Land pollution

Answer the following questions in one word [0.5x6=3]

1)  Where and when was Chhatrapati Shivaji born?

2)  Which trees are found in tropical evergreen forest?

3)  State the components of environment.

4)  Name the great musician-singer at the time of Akbar.
5)  Who has given right to equality to every citizen?

6) Who founded Vijaynagar Empire?




SECTION-B (SUBJECTIVE)
Q-3 [A] Answer the following questions in one or two sentences [1X5=5]

1)  Which trees are found in the Mediterranean Forests?

2)  What is necessary for the overall development of an individual?

3)  Which painting styles of Rajasthan were famous?

4)  Write the names of Mughal Architecture.

5) Upto how many kilometers does the troposphere extend over the equator,
temperate zone and poles?

Answer the following questions in short [1.5X6=9]

1)  Describe the architecture during the rule of Sher Shah.

2)  Which steps should be taken to prevent air pollution?

3)  What are the functions of the Election Commission?

4)  What kind of clothes do the people of deserts put on to protect themselves from
the blowing sand?

5) Describe the tropical evergreen forest.

6) What is man-made environment?

Q-4 [A] Answer the following questions in details

1)  Write a note on victories of Chhatrapati Shivaji.
2) State the effects of climate on human life.
3)  Give brief information about Krishandev Rai.
4)  Describe Equality in Democracy.

[B] Write short notes on [1.5X2=3]
1)  Mughal Architecture
2) Rani-ni-Vav
Give reasons (Any Two) [1.5x2=3]

1)  The battle of Tarai is considered as a landmark in the history of India.

2)  Sultan Iltutmish declared his daughter Razia as his successor.

3) Tides and Ebbs occur in the sea.




Q-5 [A] Show the following locations on the map of India [0.5x6=3]
1)  Show the State where Haushaleshwar temple is situated
2)  Show the State/Union Territories where Tropical Evergreen Forests are found
3) Show the State where Konark Sun Temple is situated
4)  Headquarter of the Indian Metrological Department
5)  Show the State where Uparkot Fort is situated

6) Show the State where Golden temple is situated

[B] Identify the given picture and write a short note on it

Water
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SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: HINDI
STD : VII MARKS: 60
DATE : 15-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION-A (OBJECTIVE)
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(31) 293 (F) 2%3Y (F) 2]3¢ (3) R3¢

JeISIRT HTAT &l & faT 39T AT AT
@) IAF @) WS A (F) GAA P (3) T
N dIEe H gl
(3 I& (=) FY (8) Gl
(@) faARew ik 39§ aw i N T [o.9X&=3]

? (31 3R Feg / faeaw R
| (311 3racRoT feg

(3) ot g

() uAHTS e

(3) oifeRTH

(3) 3feqialH




(F) farafaf@a wsal 1 wae 3 f_Afdw)
(¢) aferd (k) TRx (3) &
(8) ToRrem () =T (&) 92
(3) Frafaf@a ereal & R aeg AT

(2) g8 () STl (3) WX

(¥) A (9) fFrafaa (€) $TelTS
-2 (3 Arfafad ol & @ 3dam 3R 39T TR ad18v|

?) foraedhr AgeTd 3T FHerdT

R) SIATST W el @sT § ?

3) Mar & U FS ar B

@ i@ el # @ 31 3R 39F TR a3
§)  SIET I ATRATAT Fed &l
) #IH FT IS IUTHERT BT &
3) THT H Hg T 86 |
fArfaf@d el 1 sgaae T aeg # 9@ ATl
RETIC] () T (3) AT
fmfaf@a Rea a6 qfd fifore |
) T A TR FA A Feas|
) AT SAEA T H S F
3) udig N HEH ORI 9T |

¥) S A YA HEAT gl

$) Qe & fad AT R AT A




@) TH e H 3N ST

?)
?)
3)
¥)
3)

1. [ d RIS & fhder H1S s & 2
Jerdllerd & ford 7Y & TT=r Hr 2

hIR frd T IATT & ?

HepleT Hifoleh fohdel HEI &1 AT ofel 31T o1 ?
'HUAT 3R FE SHS HT YR FT & ?

SECTION-B (SUBJECTIVE)

(@) PA=R@T 1T & & - Q) g # 3 _f@v |

%)
?)
3)
%)
9)

SET FoolRT 9T ol fohdeh qre ar=r ?
ST H GFATT & PAorar & ?

AfeaT O g Far Heer fAoar § 2

N $r g & v fFgesr 3eor fear mar g 2
AR 2 Fr &1 fadwar g 2

(mmmaﬁmaa#‘awmmmﬁgcmaﬁwﬁm| [¥x¢=¥]

¥4 (3) Aem FH X Pew qEaF Faor vy w gaen i@ [x¢=3]

(d) TRET & YR W J9 Aol H FgEr v 3T ofids @) [3x2=3]

Teh 3T - Id I UMF o€l - 92 H Gl o glell - ollelced olhl aAar

&I 3T T - ART H dA5dh 1 THAT - dllelesT A H W HT HROT IS -
37 & 3T 3% - g - I |




@) Afaf@a =g #1 geat AT G v year & 3w Af@vw | [¢x3=3]
39 EY ged § 3 &d W fFaR Y i A1, AGHA 3R ATGHT i

9 M KT BITH Siefall 3T &l Sed il 8,0 &l Mg H Wel-head 3R
G-AHT AT IS¢ Bl § 3R Th U U HTal H Gehe el i Afrd I
39 HHATRS Slided I GE@AT Sl g1 Hcdd We H1 fawa g fon 3t nfeenrer
HRATH 3Tl HATTTST T 398T &l g1 ST el ATGHIT &l foREPR el &,
3Y I SAHFT el gl ST v
&Y -
(?) &F W fha-frg &1 ®or § ?
(R) AT T FKOT §H FIT ST BT ATfgT ?
(3) fRa SrdTd sTelr el ST Tehdl ?

g€ (31 Arafaf@ad Qe & @ :1F e W 90 e F A9y AT |
(2) YCNUT Ueh fahe HAEAT
(R) T &7 g &7

(@ ‘TF U3 AT & AW FAfed H AAGST T30
(@) o Re v R F1 Rvgarg a@srst 39+ Agaa fAf@w |




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)

SUBJECT: GUJARATI
STD : VII MARKS: 60
DATE : 17-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)

Y- (1) ollAell uslloll cltot AR [Aseu wie sila cul | (0.Ux5=3)

(1) ‘USRS el uel ... ws 3ol sal 8?

(A) /YD () eyl (5) &lRA (s) aRu@s

(R) HslelRdoll Yeuri 51Q Uscysoll Ul 531 &l ?
() 93 AQ (o) Aol () YalA (S) sAR
(3) 53 2y wat ciell ald 5 & ?
) ot€le] Y (W) eRaed 1Y (5) doude] Y (5) WillRae] 2y
(¥) A eyal Fecl o) HeU?
() 1 A (61) YOO ULH (5) 1 ool (5) As ULl «1(e
(W) 0B EL Ul walel Ut IR 32l aell ocll ?
() 100 adetll (&) 102 ansll (5) 20U adell  (5) 193 sl
(s) s ol slaal AlAlA
() Hotcd (o) ASARL (5) AURAH
() o(1A e (@ Uttt 1 Ul ctgetHi Yol s . (1x¥=%¥)
(1) wadl wsg (3) AH H ¥
() elaul A2l x4 (¥) suosl deS Al
(5) ollA WA AEAYE HE2 As AGE AWl . (0.Ux¥=R?)
(1) AR et A Bllere] vd?
() wolg uRul eun stestiR
(3) U 8isallR
(%) vstaAHdl uscl el Rgell 5551
Y- MLl Yool Bl dul .




) Aleltel 2AcEl dvl . (0.Ux¥=R)
(1) HBR () &d (3) U« (¥) &l

(o) sl YulA . (0.Ux¥=R)
(1) soflau (2) <lolEls (3) Goull (¥) @R

(5) o{lAell 20Ela AcESAAL SHHUL sl M. (0.Ux¥=R)
ola, Hdold, VYEL ASARL

(S) 2AcElell GUAL 53| cisel clellcl . (1x3=3)
(1) yleley () Ry (3) URAsH
2192 1S5l s . (0.Ux¥=v)

() (W)

(1) AU R () wdl s
() % 83 iR (6l) YSELE WRW
(3) s HILU] Ao (s) uslAd
(¥) Sluiell u% (s) R aueell
slauell 2002 2ee Ygl oflAoll vl ool yRU. (0.Ux¥=?)
(1) slde As deal ol 20 531 (WS uis)
() (dc olld w3 ouat ® el Hi Aal U ol (cltd ,cual)
(3) R AwHl Al GLOL (U D)
(¥) stcadidl 3 ocridl _ RUslle] AAUGLG USa $RA(UE,ULL)

() olAell ctsell vl WA v ol Aa vl WA Xoll [Aauedl s2A. (0.Ux5=3)
(1) o€l el A wotdi wsl a3 a woll.
(R) HOlol AUHAUEIAA W Ui dcll.
(3) ollostell 2uan llal WAlRA A st UsO U A3,
(¥) aRUWYR doude] ElY alequnl olg w2l &d.

(W) AUOEHYA atteturell & dLel wg dcl.

() R0ls Walladl uedll wal ARl R sdl.
Y-y () o{lAell ctselHiell Acettn L.

(1) A Yds aiAd .

(R) dHa 59 ad aell ?




3)

UL oA AL Yl

SAHL BUAAL 2AGELA GURADL $3la Yt ololldl.

()
(R)

ARULE ollR A Al a¥ 8. ecl)
el osiofell Al uellal 2udl. (sla)

SECTION - B (SUBJECTIVE)

o{lAoll Yol GelR AWl .

(1)
(R)
3)
(¥)
(1)

Uiscl ol SlRcl cA Al M2 Yrud U & ?
ol 2lul Ao Hollal sloll WA esclle] QUR & 2
AR oflostad 3l A HeE3UW URA 9L ?

9 U &l cl 2yal oy HuAUl Sl ?

0Le9Ls R0UIL 2l HIE AEL usAUL ?

o(lAetl YUsllell A — AR cllsAAHL Gl Al .

(1)
(R)
3)

UG GRAA AU 81N ANed 9 ?

WHAAAA 58 2 dHal ot ol ? 31 ?
ellRlal Aottad 20Ls Walloll Hee ot Holl Slct A ?

oA WAL (AN UR gsolltl cul.

()
(R)

Al H3old [Felolle
0tels woll

olA A steAulsel Yyl 52 .

v el GRAM

(1.UxR=3)




U5 () o(lA AL (AU UR U0 2AcEIHL Aol vl (LA A A s)
(1) cRidel detal
(R) Yrctsall wlcHsal
o(lA Al Yal uRell cldl cdul vl dal Al 2lds 2l (3x1=3)
As oUM - HERe] Aulastad - As Rl - Y(d olottacl - As HRRLe g -

Y(dof wadisat 529 - ol Y(d Al - olly y(d olottaas s x@lg - y(dsut

afsallat (A osalg - y(datl et [AA Qg - 1A dale cldl - el yod
- Redlell GrR- AR (Au)
uall
alitfloty iAol 816 AUSL dR cliAl B Aotl A AR Potal st cdul.
o(lA AL §51 Uell wsllatl scllel Aull. (1xU=\U)
(Aot etdetl oltauRlell L clcd B, AR »UR olloll ocll RUR % U WL,

W URell AOWEUHL A5 $BIUe] BLS &cf. VUL FUWHHL HIA ALS UR % ecll.¥UR $QU
Ul AR B dld dotcdl Auiell aMe] Mot UsdR U &d .

Aol Uil RuMLE SR A A2A Q-G AL WL UMl €8 URHL WUl
U [Aolledl A &lA adUcll %l [Aollot 53 8 3, A A3 wuclloll Hal WA Blole
Ul ocll 3 Aofl AR decll (Eaxt Yol ¥l

HZL 1A 2 wWastellal vitatell vieie Scl dlat Aaoll wojeiad sARN. AFlA
vllallell Alole 585 el o sl A cllctoll udlld A (Bad ues.

(1) (Qollodl elde] ouM olte] & A 2 uel s&l asta ?
() [(Qolloll euAsll Hidlotl eteitcs(l 2l QAN &l 2
(3) MBS GUR »AUR QA ULRL RUR RYHLE 9 Sl ?

(¥) [(Qolloll A 58 cllcloll WAGE Vllole UA ?

(W) GHOL 5 GRS HIE $5AHL sl AsE dURRA & ?




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: SANSKRIT
STD : VII MARKS: 60

DATE : 22-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q-1 (A) Tick the correct answers. (0.5x8=4)

1. I 9 fafa 2
3) TR §) el
%: gafd Had: JEhR T6d: aIvT:?
37) frere: d) o:
‘3§ Hded of SMAA |’ 3¢ aFT h: dGid?
31) 37alT §) Adel:
geh: Y TA?
37) &S d) gu

S

e o6 geafa 2
37) THBAH d) GIaTThelH
Thel #amel: FF TeSid?

31) FoIH &) FoeH

qcH: IERIGIN
3) T8 q) gt
a: gafl gef: goi: & gefa?
3) HIsTh g ) &: BIOT:
Q-1 (B) Write meanings of the following words.
1. &IsEH 2. e

3. Al 4. d>dh:

C

5. Tag: 6. JHYH

~

Q-1 (C) Join the following words:
1. THH + TT

3. & + A}




Q-1 (D) Puta Vv against the true statement and a X against the false statement:

g g fAaafd|
EICIBERCIGE R WG ECIR]
gceh: o fagfd|
dTel: TepTehl Y&eel: T & |

AFYATY: Yool HE ISl o BT |

ST Ay aRfIar #fEd|

Q-2 (A) Match the following.

¥ A

@ﬁﬁﬁ:

S) U

(0.5x6=3)

Q-2 (B) Read the following phrases and writes them in number and words in the
table.

(1x5=5)

No

word/phrases

In number digit

In words

1

frae a=nfor

qrosdr




Q-2 (C) Arrange the following sentences in proper order : (1X5=5)

gaft forrer: safa|

Teh: gafl 377Ed|

Toqse: gell HTAs mesfd|
Helecdk TIEUT TEA|

T: Gol: Gol: dafcd “hlsden?”

Write the names of colours in English. (0.5X4=2)
1. A

3. gRa:

Write following numbers in Sanskrit. (1X6=6)
¥Q Y

k14 Yo

Write the following Sanskrit words in number :

TehIeeT
LECRIGE
ThiAed
HodTearierd

SECTION-B (SUBJECTIVE)

Write answers in Sanskrit. (1X6=6)
F: URTA?
JeTEg 3I7E: & AT ?
F: g ITSIA?
AaTTer: 3 RIY guear f& seofd ?
At FEATd I 3resrata?
Teah: & @refa ?




Q-4 (B) Write time in SansKrit:

Q-5 (A) Complete the following verses. (1X5=5)

qUTeh G Rg
Q-5 (B) Write translation of following paragraph. (2.5x1=2.5)
3ol I TS|
fRrgy 31T S ERY HRAfd |
gy At faeRfa o 4 el |
sTTeT: TR U=Afd |

: gohIAd O Wifeqd S |
Q-5 (C) Look at the picture and make sentences in Sanskrit on the basis of the story.
(2.5x1=2.5)




